

$$\begin{array}{ccccccc}
 N=10^8 & \underbrace{\hspace{1cm}} & \frac{N}{2} & \underbrace{\hspace{1cm}} & \frac{N}{4} & \underbrace{\hspace{1cm}} & \frac{N}{8} & \underbrace{\hspace{1cm}} & \frac{N}{16} & \underbrace{\hspace{1cm}} & \frac{N}{32} \\
 & 1T & & 2T & & 3T & & 4T & & 5T & \\
 & (1T=1\text{min}) & & & & & & & & (5T=5\text{min}) &
 \end{array}$$

$$\rightarrow \text{tzn. } \frac{10^8}{32} = \frac{100 \cdot 10^6}{32} \Rightarrow \overline{100:32} = 3,125$$

zbyla
jadra

$\rightarrow 3,125 \cdot 10^6$, ale! ptaji se na,
přeměněna

$$\text{tzn. } 10^8 - 3,125 \cdot 10^6 = \underline{\underline{96,875 \cdot 10^6}}$$